
To
ba

go
ht

tp
s:

//t
ek

el
i.l

i/r
og

er
s-

ru
le

s/
La

st
 e

di
te

d 
20

25
-0

3-
06

G
oa

l
H

av
e 

th
e 

m
os

t t
re

as
ur

e 
at

 th
e 

en
d 

of
 

th
e 

ga
m

e.

Se
tu

p
A

ss
em

bl
e 

th
e 

m
ap

 fr
om

 th
e 

th
re

e 
se

gm
en

ts
 in

 a
ny

 c
om

bi
na

tio
n 

of
 si

de
s. 

U
se

 th
e 

sm
al

le
r t

ile
s a

s e
dg

e 
cl

ip
s.

Ea
ch

 p
la

ye
r c

ho
os

es
 a

 c
ol

ou
r a

nd
 g

et
s 

th
at

 v
eh

ic
le

 a
nd

 1
5 

co
m

pa
ss

 ro
se

s.

C
ollectively place 4 huts, 3 trees and 3 

statues. M
axim

um
 one per space, no 

closer than 4 to another object or the 
sam

e type, each statue m
ust face a 

hexside and not be adjacent to the 
ocean.
Extract the tw

o C
urse cards fro the 

Treasure deck. Shuffle the rem
ainder 

and m
ake a 12-card initial deck; 

shuffle the rest w
ith the C

urses to m
ake 

the m
ain deck, w

hich goes underneath 
it. Stack these on their connector tile.
Stack the am

ulets on their connector 
tile.
Place the volcano approxim

ately in the 
m

iddle of the board. Place the four 
lava tiles by the board.
In reverse player order, each player 
takes one terrain triad and places it 

such that one terrain space goes over 
a m

atching space, one lava space goes 
over a terrain space, and the other 
terrain space goes over the sea. Pkace 
their vehicle on that new

 hex.
If not already placed, each player 
places their vehicle on any island hex.
Set up four piles of cubes by colour. 
Each player draw

s a clue card and 
places it by one pile, w

ith one of their 
com

pass roses on it.
D

eal 4 (
: 6) clue cards to each player.

②
 

R
em

ainder go on their connector tile.
Take turns in rotation.

Turn
If you start your turn sharing space 
w

ith an am
ulet, you m

ay take it.

Either (a) play a clue card. A
dd it to 

bottom
 of the colum

n for one of the 
treasures. It m

ust reduce the search 
space, but not to zero. Then draw

 a 
replacem

ent clue card. If the num
ber of 

possible spaces is sm
all enough to 

allow
 them

 all to be m
arked w

ith 
cubes, do so. W

hen only one cube is 
left on the board, the location of the 
treasure is know

n.
You m

ay play and discard an illegal 
clue card to take and place one of the 
four Lava tiles instead. Treat this as a 
treasure card except that it returns to 
the reserve once the treasure is raised.
N

ote that an “adjacent” or “1-2 spaces 
from

” clue im
plies that the treasure is 

not in a terrain of that type; “not 
adjacent” or “not 1-2 spaces from

” 
m

ay be in that terrain.

O
r (b) m

ove your vehicle. You m
ay 

take up to three bounds; in each one 
either (i) m

ove as far as you like w
ithin 

your current terrain type or (ii) cross 
into an adjacent different terrain type. 
You m

ay not enter the O
cean.

You m
ay not enter Lava or the volcano. 

If you spend an Am
ulet, or if you have 

no Am
ulets discard your highest 

treasure card, you m
ay m

ove across 
Lava, but you m

ay never end your 
m

ove on it.
You m

ay pick up an A
m

ulet at the end 
of each bound. If you end a bound 
sharing space w

ith the one cube that 
represents a know

n treasure, you m
ay 

end your m
ove and raise the treasure.

W
henever you pick up an Am

ulet, 
place a Lava tile adjacent to existing 
Lava or the volcano; not on a statue, 
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